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® -1 3 0 @ 5 ® 3
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4. Hdy=3x+2d EZ=Hy=x>+mx+3 o] F HolA Th}r] 9t
A m o] HYE oHH?

O m<-1,m>3 @ m<1l,m>5 ® -1<m<3

@ -1<m<5 ® 1<m<5



5.  oJAFgS y = x% - 2ax—2b% —4da+4b -6 2] 1 ZI} xZof Het o,
a® + b9 g2 (&, a, b= AF)

@D 2 @ 5 3 8 @ 10 ® 13



T f(x) = ax® +bx +c7b x = 1oM H&g 1S 7HAAL
3& WA o, A= a,b,coll toto] a + b 4 ¢ §h2?

@ -3 31 @ 4 ® 7



7. 2<x<4oA oLy =% -2x+3 O] UYL M, HEFS
m oItk M 4+ m ] F27?

@D 10 ® 11 3 12 @ 13 ® 14



8.

o AT o] oA y = —a? + a 9] TS AM y = mx7}
MR T2 % A P, QoA gtk F Qo] x 2B V519 1,
a+m2 2 Aotofet. (&, a, m 2 F25)
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